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1 KO)~CBNZHTIEELDDE, TOD~QDOHMNETRTELLE XV,
(1) 211 XEEX 3x+4y=1 O
(2) 2701 KHHRX 20— y=8 DI

o [ 3x+4y=1
(3) A FPRES D i
20— Y =28
@ x=3, y=-2 @ x=-5 y=4
& x=5 y=2 @ x=4, y=2



2 ROMAN RN E S0,

—2x+5y= -3 2x+y=>5
1) { (2)
2e—3y=1 x=3y=-—1
br+4y=—1 —bax+2y=—4
(3) { (4)
—2x—y=1 2x—3y=—0



3x+H5y=6 —2x+7y=11
(5) { 6) {

bx+9y=38 ox—2y=—12

y=3x—6 x=—-5y+6
7) { 3) {
bx—9y=10 3x+T7y=2



y=7x-30 = -0 5
(9) { 0 {w v

y=5x—20 xr=8y—9



3 ROV HRERERXEZHX &V,
: {2x—3y=5y—2 : {3x+2y=3
1 2
Se+4(y—2)=11 7(x+2y)—2x—9y=-10



(3) {

0.7x—-03y=22
20 —by=—-2



4 i x+7y=-4x—-13y= -3 2 & 2 X\,
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